offire

(311)
M athematics

RS O G EC R

Tutor Marked Assignment

THifgs W= 20

fRemes () @ 2w JkgeEw | AT AtaR N OF AR STEd I Onedl TR |

Note: (i) All questions are compulsory. The marks allotted for each question are given
at same place.

(i) T TGF LA S[PIT MCH Ao T, SIferFrgles 7, S (FrHF MW G-
ISEERGECH

Write your name, enrolment number, Al name, subject on the top of the first

page of the answer sheet.

1. fosfefie oxml e @uee <3 atsiw Tew )

(Answer any one of the following questions)

a 3% FIT 40 T =gzl =itz | ©F g 25 § oy Bwre I w0 StF «3%
15 5 siwa f2fve ok TS 76 ST T WS A | 2ToF #[w 7 SRR
A TFS GFH O FA ICS HAH | FO ST WA SACTS FA TS

AT ? (<i15-1 C74F)

In a class of 40 students, 25 speak Hindi and 15 speak both English and Hindi.
All students speak atleast one of the two languages. How many students speak
only English. (See Lesson 1)
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2.

b)

100 ¢t 1000 «F 5 1, 2, 3, 4 @22 5 «3 vmaf W «ife seul sem
0O AATH? T R FN TFE GFEF IF DA W@ AL (20-11 @4)

How many numbers are lying between 100 and 1000, that can be formed with
the digits, 1, 2, 3, 4, 5 if the repetition of digits is not allowed?

(See Lesson 11)

Tefids el (AT @FE @0 A4rE Tew T )

(Answer any one of the following questions)

a)

b)

atib_ 4 2i3le] a2+b2—xz+y2 | (<i15-8 (YF)
ctid Y =0 P 242 T

If a+ib—7<+i then prove that a2+b2=X2+y2 (See Lesson 8)
c+id 7 P ¢ +d?

6 T ST € 4 T AR A (ATF 5 T oy [S @3h FHH ol Fwce
20| FRHCS TFSATHF o AZAl AFHA FOIFTSII (2 FRIG 5 T A2
(715-11 74)

A committe of 5 members is to be formed out of 6 gents and 4 ladies. In how
many ways this can be done, when atleast two ladies are included?

(See Lesson 11)

3. fufefre el s R 3 atew Ten e - )

(Answer any one of the following questions)

a)

a3 WRE Fge 93Fh y? = dax TR RS 7—RIren T30 G =eitd oF
7 @ R fagrer @l AR sryres AR W s 27 | TR

fagter A e el e | (o113-16 (74)

afere (M athematics) Session 2020-21




An equilateral triangle is inscribed in the parabola y? = 4ax, whose vertex is at
the vertex of the parabola. Find the length of the side of the triangle.

(See Lesson 16)

b) a9 @ «st 51 T 2o | WHEie SRRl steuE Wil [Rge T |
) oo b @T e
i) FF (TTE AT T (o15-19 4w)
Three coins are tossed once. Find the probability of getting
i) atleast two heads
i) no heads (SeeLesson19)

4. fEffve aww (e @@ 93 2mEm Te e (4)

(Answer any one of the following questions)

a I IRAEAR (RO @ieee 14 Z0a1 @3k (3, 4) [gib et o sRige
0 SRR e e | (15-14 (74F)
Find the equation of the line, which passess through the point (3,4) and the sum
of its intercepts on the axes is 14. (See Lesson 14)

b) @b nmen aeifen gow oD 2t @eree 56 3R *1F SR 2w (e
1121 =6ifex 22w M 11z Aeaifsiire Foafe «m wirg? (o13-6 (L)

The sum of the first four terms of an Arithmetic Progression (A.P) is 56. The

sum of the last four terms is 112. If the first term is 11, then find the number
of terms in the AP

(See Lesson 6)
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5. ffefre exim s @R o atw Ten e - (4)
(Answer any one of the following questions)

a) 3 wital 7 6 Fer weder ¢ 4 & Fiten e otz | wiet (A 5 e e
e e TeRmels [Rge T

) E MR 9w =)
i) 3% e Fer e 2 B W wean =@ (715-11 & 19 (7YF)

Five marbles are drawn from a bag which contains 7 blue marbles and 4 black
marbles. Find out the probability of

i) al will beblue

i) 3will be blue and 2 black (SeeLesson11 & 19)

b) @ #iFfes WA N 9T Tl AARSF SR AR AN T |
1+4+7+1, +(3n—2):%n(3n—1) (+119-10 C74)

Prove by the principle of Mathematical induction for all natural number ‘n’:

1+4+7+1. . +(3n—2)=%n(3n—1) (See Lesson 10)

6. e oFmel@m T &N «FH oFF dFS I (6)
(Prepare any one project of the following projects given below)

a 2020 AE SEPS @FF GFH GFER FFe W W R FEeRe [anaf
Trmd I Fhog AR ¢ TIIRES Al I IO [FAT o T |

(o13-17 (74)

) ATOF CATAEITET (RIEE @ (range) fdiae e |
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i) AT WER (FFF AT Rpfe ST T

iii) SSIFR MA@ T ¢ W (FRCT 2R (frequency) €3 2T
R G0 T S (frequency) I AR Sioe T |

V) It STl ofted weste AFman (frequency) 369 ARAGE RGNS
AR A T |
Observe a one-day cricket match to be held in the year 2020. Prepare a project

report indicating the performance and comparison with respect to the following
points.

i) Rangeof theindividual scoresof the players.
i) Compute team wise mean deviation score.

iii) Prepareteamwise grouped frequency distribution tables, showing the number of
over asclassintervals and corresponding scores as frequencies.

iv) Represent the above frequency distributiontable (Part iii) with thehelp of histogram.

(SeeLeson-17)
b) w*MT @ TFE =we 50 § 2[R Wy @ T T @32 TEieiie [Renefs
Tt A @I AT I w7 | (o13-17 74)

) TR IS (A ewR 2ot S
i) sffRelesm e ow 2R T

iii) FrFTOR WY N AU, T, THNG, Ted ¢ Felded TAS
gz T |

V) “fFRie witEe enfaeas e e
V) DOl SRTM (TFhRTRAn-ii) el oy IRHra AR o e |

Conduct a survey at population in your locality taking a sample of atleast 50 families.
Prepare a project report with respect to the following points:
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i) Represent the data showing age using class intervals.
i) Computethe averageincomeof thefamilies

i) Literacyleve of the populationintermsof Elementary, Secondary, Senior Secondary,
Graduation and above.

iv) Findthevarianceof theincomeof the families
(V) Represent thedatain part (iii) with the help of bar graph.
(SeeLeson-17)
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(312)
Physics

RS O G EC R

Tutor Marked Assignment

A W= 1 20
Max. Marks: 20

fRemes () @ 2w JkgeEw | AT AtaR N OF AR STAd I onedl TR |

Note: (i) All questions are compulsory. The marks allotted for each question are given

at same place.
(i) T TGF LA S[PIT MCH Ao T, SIferFrgles 7, S (FrHF MW G-
ISEERGECH

Write your name, enrolment number, Al name, subject on the top of the first

page of the answer sheet.

1. FEkle awehm @ @ 907 Ter m S 40 (AtF 60 #twE =31 (2)
Answer any one of the following questions in about 40-60 words.

a 76 G IR e 120 m @3 80 m ReEre s aiw T qA@wT 42 [y
5! ¢ 30 /B! (9 0T | FOO! AN T O AT SHTCF AT So
AT ? (o13-2 (L)
Two trains 120m and 80m in length are travelling in opposite directions with

velocities 42 kmh™ and 30 kmh™! respectively. How much time will they require

to completely cross each other? (See Lesson 2)
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b) Rfen ewfite arE <3 vvoem emfq Fal =@ AF @G 94ia e w4l
T—Fh TETefs AT TERIre Gl (IR T ACS IFSH T4
THEIUed MRS SR I, O TET GIp¢ a1l TG | geffmse qlerfeq st
@91~ FITAT 257 T2 T4 IS THIICS MY SR T2 (JPE R-aF
) | T qres T 1.5 =W, o @6 Fefw sl (#15-4 (74)
An interesting act performed at variety shows is to swing a bucket of water
in a vertical circle such that water does not spill out while the bucket is inverted
at the top of the circle. Derive the expression for minimum speed of the bucket

at the top of the circle in terms of its radius R. Calculate the speed if the
diameter of circle is 1.5 m. (See Lesson 4)

2. fo=fide efelm @@ «Foa Tex e S 40 (tF 60 <7 wEm | (2)
Answer any one of the following questions in about 40 - 60 words.
3 @ ST TS INTE Felm Fwd X STwF ATHATT | (#15-7 74)
Calculate the moment of inertia of the angle section about the X-axis.

(See Lesson 7)

F IS

o L OONTUITY iy
!
i

b) fEfegvror Bae wditas e | 0.2 mm JPidea @b aed ©taa e
0.4% Jf@ FACS FOO| T ATAGH 2 |

Y = 9.1 x 10° Nnr2 (o115-8 7Y)
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Define Young’s Modulus of elasticity. How much force is required to have
an increase of 0.4% in the length of a metallic wire having radius of 0.2mm.

Y = 9.1 x 10%° Nm? (See Lesson 8)

3. feffde edelm @ @F «FHa Tex fm wimifes 40 (atE 60 *Tw @ S| (2)

Answer any one of the following questions in about 40 - 60 words.
a A BITsl MR o SIteR kel i Cp @ Cv 3 S0 3=otF B9 T2 |
(#13-10 (7Y)

Define specific heat of a gas at constant pressure. Derive relation between cp
and cv. (See Lesson 10)

b) 7% fon smtes w7 sRfRE TR Sore T 451 NN eETEveEl 6% qb
ST qO AT G2 SR @A (TS (e O (A SIS F© 22
(7N15-12 (74=T)

The ratio of the coefficients of thermal conductivities of two different materials
is 4:5. To have the same thermal resistance of the two rods of these materials

of equal thickness, what should be the ratio of their lengths? (See Lesson 12)

4. fT=fEe g9mim @ @We @Fox Tex fm seies 100 ¢t 150 *t3@ g | (4)
Answer any one of the following questions in about 100 to 150 words.

a b TP GIH IeH wo{d JF ISl AP 10 cm (AT 21 cm TF I =
@76 3 om PeT FHT T W AfSTE 1.5 Wl 47 0, ¥ ¢ WA
TR F11 29| 2fSRTes sew @A 23, Gt ST T 7 Foe Foea

IRF TEH wofel (AF 1 cm WY 41 T (o115-20 4w)
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An object is placed 21 ¢m in front of a concave mirror of radius of curvature
10 cm. A glass slab of thickness 3 ¢cm and refractive index 1.5 is placed close
to the mirror in the space between the object and the mirror. Find the position
of the final image formed. Take the distance of the near surface of the slab
from the mirror to be 1 cm. (See Lesson 20)

b) R®RF T (amplitude modulation) FITF T2 G T€T AM (2FCIR IFHF
[y T | (+113-30 4w)

What is amplitude modulation? Explain the block diagram of a practical AM

transmitter. (See Lesson 30)
5. frsfeide 2@ @ @ive «3Foa Gex v siEnfe 100 (At 150 *Tw Seeg | (4)
Answer any one of the following questions in about 100 - 150 words.

a Il wared TEw RegFd wrel ol I = I 9Ih  RREeREd
SRS (FIF 799 261 50 (i ¢ Sfeaas (FH 7% &5 5 @I | T8

Yo Pow 7Eg 2o 25 G | AW qRarwd TS SfeerH (ArF 200 G e
T0% 78R CFQ oW I W O WolT T i) e @ Sferagd Net

7y i) RRd el | (+i15-23 C47)

How can the resolving power of a telescope be increased? A telescope has

an objective of focal length 50 ¢cm and an eyepiece of focal length 5 cm. The
least distance of distinct vision is 25 cms. The telescope is focused for distinct
vision on a scale 200 cms away from the objective. Calculate (i) the separation
between objective and eyepiece (ii) the magnification produced.

(See Lesson 23)
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b) = dFtE AT I TR O [ (AT G0 Tooa (ATF 22° @ I3, TR,
TOwE b g N A 10° (Fiel FH W | AR AT @9 15 ms? @z «ft
Towe (F M Rre S9e =i |

) oM Fows (F TN WG TN, G WY iR T |

i) OM @ 79 s T | (s15-4 747)

A projectile is launched from point O at an angle of 22° with an initial velocity

of 15 m/s up an incline plane that makes an angle of 10° with the horizontal.
The projectile hits the incline plane at point M.

i) Find the time it takes for the projectile to hit the incline plane.

ii) Find the distance OM. (See Lesson 4)

6. Wokie gsefl (T @ FF O 24T TFO T |
Prepare any one project of the following projects given below.

a 1% = 0 T oE qrel T @37 AT 92 R e [fen o

fSq e /| R @ 07 | ro! ¢ MEFE I I(E WA (S
o T | AT A5 IS MACHT & 20 AT (WS TN [OdE I (TG
FFq @R Ot T 0 [feq S et ot 41 areiv @ieka F0F

ARl Tl TN 9B o 2o AlY g IW Paiw prm ww |
(o13-13 (7Y)
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b)

Take a 1 m long thread of negligible mass. Consider three spherical/ cuboidal

bobs of same sizes but different masses. Form simple pendulum using thread
and bob and estimate the time period of each of the pendulum by recording
time for 20 oscillation three times for each pendulum formed. Tabulate the
observations taken. Interpret your results and justify. List your 2 main

conclusions derived from the above project. (See Lesson 13)

50 kg SR «30 I R @™ (AT R, 2R, 4R, 6R @32 10R WY €T
e At sifzener 0 29| SfSR (W (AT THOR ACATH ILT 9T 7 AT
a3 o / @by (o T A& e TR g Mm@k wds T A
AF (AT G [T AR 207 ©f e T | =Tl TR AT OER
sfisa & i 2 ©f @Hfrd mam | Erefba/ae @ @F Redw Frace
el Tofie 2w ©f I e | e @ @ Prmite Sl 2ewa, ©f ok

5 | (o115-5 7Y)

Consider an object of mass 50 kg. Estimate the weight of the object at a distance
R, 2R, 4R, 6R and 10R from the centre of the earth. Plot a graph showing
the weight of the object with respect to the distance from the centre of the
earth. What would happen to the graph if the earth shrinks to half of its radius.
Show on the graph how the mass of the object varies with distance. What
specific conclusions will you be able to draw from the observations of the graph.
List all your conclusions drawn. (See Lesson 5)
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(313)
Chemistry

R O G EC R

Tutor Marked Assignment

THfEE W= ;20
Max. Marks: 20

fazme () e 4raw Tew el o | dfel atim W avaw e (rel S |

Note : All questions are compulsory. The marks allotted for each question are given

at same place.
(i) TeIoTTT LU DT BT ST T, T 724l, Al 7 @ Ry Travd w0 |

Write your name, enrolment number, Al name, subject on the top of the first

page of the answer sheet.

1. fofeiie emelm St @ Tt @ 4089 Tex 40-60(0 *twd Wy fo1dte =09
()

Answer any one of the following questions in about 40-60 words.

a F Cl, Br, | — @& 3G Q20 G St [Rephy 0 | SiomE

TeE AATw TSl A T | (o113-3 7Y)

Arrange the following in order of increasing their electron gain enthalpy. Justity

your answer. (See Lesson 3)
F,Cl, Br, 1
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2.

b) IMe ‘S @I WTET ‘P ATO ST T, FE P’ GF 2L AT I
‘S wrerw @ | e (o13-3 7Y)

Although the size of sulphur is smaller than phosphorous but first ionisation

enthalpy of phosphorous is more than sulphur. Why? (See Lesson 3)

fRfafe exfafem o @ @It @t 9reg Tea 40-6000 *twm Wy &4t =09
()

Answer any one of the following questions in about 40-60 words.

a I 47 CNER GFF (I (T CTORC 99F; q0Fd 9Fv 47 540.2 pm|
g =g 7 T gem® @33, T @7 eifFs TRke or (Rrate gt
) 202.4 =7 | (o115-16 4w)

The unit cell of a metallic element is face centred cubic and the side of the
cube is 540.2 pm. Calculate the density of a metal in gcm-3. If its relative

atomic mass is 202.4. (See lesson 16)

b) 4w 13 efdg (Terafer @ B w2kt Al-93 At S w24l Ge (wivf (WfEre) =1
77 O F o4FF IEFEE (Semi Conductor) SiteT TR «RL (2

(7N15-16 (74)

What type of semiconductor obtained when Si or Ge are doped with elements

of group 13 such as B or Al and why? (See lesson 16)

@ @A @FH TeF W 40-60 T =7 Seag | )

Answer any one of the following question in about 40-60 words.

a Tnzmer Rembre ok TRerbre Rfewm g sa1  (si0-11 o)
@

Explain with example reversible and irrevesible reactions. (See lesson 11)
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b) TGS G THIT T 027 N-O-N IH BTR — ©IF 910w G 45 o747 |

Give the structure of an oxide of nitrogen containing N-O-N bond. Give its

nature.
4, TS el (0F @ @A @FBa Ted MW 100-1500 It e | )
Answer any one of the following question in about 100-150 words.

a ) S () PR «wifE sifteds 3wl [fem R st
T 52 (s15-10 4w)

What is the relationship between the standard Gibbs energy change and

the equillibrium constant of the reaction? (See lesson 10)
i) oIS (2APeT) G AR SRCAFC (adsorption) g AT B |
(*113-15 o74w)
Differenciate between physical and chemical adsorptions. (See lesson 15)
by ) Re@E e dEd T
Give reason of the following— 1
| faeTRE Ergitem-AIR-Seigres Wy (decomposition) (A FA |

(715-15 74w)
Glycerol retards the decomposition of hydrogen peroxide

(See lesson 15)
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| ORETTE 7R REERE TR GRd we WeoR ', IM e
Fefas e esw fw «ifisiem 3= =3 (o15-15 4w)

The oxidation of hydrochloric gas by oxygen occurs more quickly.
It the gases passed over cupric chloride. (See lesson 15)

i) oYY wre F @EE? TE T (@ @ 0 A
(7115-32 (74)

What do you mean by acid rain? Which gases are responsible for acid
rain? (See lesson 32)

5. fHRiee amefl (aF @ @ 9Fiod Ted W 100-1500 =tw W | @
Answer any one of the following questions in about 100 to 150 words.

a i) ofoe Ruge swfore F wem arg frs@e (extraction) <=1 =71 (2113-16 (4)

What type of metal are extracted by electrolysis method? (See Lesson 16)

i) 3% dom TN frgw @ gosfkwRe omfere oNem W (219-16 7Y)

Name one metal which is obtained by self reduction process.
(See Lesson 16)

iii) T4 QRES AARReRE Spitwes Wt RiFw I =W — F OWH?
What happened when borax is treated with sulphuric acid?
V) TUF M- T (515 ) HNO,-« itel R Tty =9 — < 6 ?
(41519 74
What happened when Mg is treated with conc. HNO,? (See Lesson 19)

4 9 (Chemistry) Session 2020-21




b) i) oS cwg fCofimefrs e s v weim fTEEke gomefafa
(symptions) (74! T | (o115-29 4w)

Identity the Vitamins in each case whose deficiency causes the following

symptom. (see lesson 29)
a il (@)
Anaemia
b) w=REm
Depression
C) ¥ ¥
Dry skin
d) SFveEPm

Osteomalacia

b) i) FEw T =R v 70 oA (Sweetening agent) i 674 |
Give Two examples of artificial sweetening agents.
6. fufeie odsmelr g o oaws T (6)
Prepare any one project of those given below.

a) fRoTe eqrm il Ama e | [fen spre avems [fen eguafs Tt
QT TG |

Visit nearby medical shop. Collect knowledge of different medicines used for
different kinds of diseases.
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b)

i

Tl @} ISP W oy ool e |

Differentiate between drugs and medicines.

CPTt iaRelol e |

How are medicines classified?

cIfehas s (fre f&ioe) &2 @3 saeref &2
What is self-medication? What are of its ill-effects?
o EbeR 9 Tnegel w |

Give an example of Antipyretics.

IO GIEE TN @1 @R AHRTe: AreFie AT 27 |
Name the medicines genually used during winter season.
Tt eyraler fdfel ww |

Categeorise the above medicines.

SoEe T i 9 AR T e e REnef @y @l 3t vy

T 3 |

) I T ARTNCR T 9 eime
iy % 2

i) piCEE e
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V) IuERe 6o
V) JIGRANE ®OT TR G [ SReNeS gRmme 23
V) FRTE Seare w3 el ARz REE @R FENEE IR 22

Visit the nearby treatment process of Sewage and collect the following
knowledge/information.

i)  How many stages of treatment of waste water?
i)  Whatis Coagulation?

ili) Whatis Aeration?

iv)  Whatis softening?

v)  Which is used as desinfectant to kill bacteria?

vi) How chlorine produced toxic and potentially carcinogens?
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G feeam

(314)
Biology

e T ToUEE ol
Tutor Marked Assignment

THfEE W= ;20
Max. Marks: 20

fmes () = 43R TR Ao | Al atem W 2teE E (el SR |

Note : All questions are compulsory. The marks allotted for each question are given
at same place.

(i) TERTIR 2N B T SR TN, T 741, Al A 8 K e 36+ |

Write your name, enrolment number, Al name, subject on the top of the first
page of the answer sheet.

1. FeEkfe awefm T @ @A @b 247 Ted 40-600 wtwm g =l (2)

Answer any one of the following questions in about 40-60 word:

a Wi sfASK ITTCER SR FETeF JE I [ Gywel few ¢ gEes
BT G0 AT I @ AT T A TN, WET BT @R ST
CITT 2le e forf temeaeim /W forde | (+i15-1 C747)

Standy Miller and Harold C Urey performed an experiment in which they
created conditions of the atmosphere as on primitive earth. Name the gases
that used in this experiment, the source of energy used and three kind of organic
compounds produced. (See lesson-1)
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b)

P TP AP R 2zl ol [RTd ARGt ¢ PrramiEiteR
Nl sl e | (<i15-4 74F)

Differentiate between phagocytosis and pinocytosis in regard to the nature of

and the manner in which the maternal is taken in. (See lesson-4)

2. ke emelm @ @ (@At @Fh 2@ Ted 40-60 T =tvm g =l (2)

a)

b)

SRS e TR Whre offem PRI BW (AT IS T RAT P |
@ efes AR 2 FG T 27 ©oF W Fige | @2 2gfen AW TE (@AF
@ IO 74T I T ©OF TN 1Y | (ol15-24 4w)

A drop of blood is collected by the police from the spot of crime to recognise
the culprit. Name the technique which is used for this purpose. Name the
material which in seperated from the sample by this technique.

(See Lesson 24)
@3 e (IES/AER) K e Twael o)l e
(i) SN T T (i) TIPS A (jii) W To

ceifbr 9w oy @z 9fb Gitww SrEd Fw, @ @f e @il SR R
T AL | (*115-29 o74)

A child (boy/girl) is showing the following symptoms—
(1) Pigeon Chest (ii) bow legs (iii) bones becomes soft.

Name the disease and suggest two food items which may be benefical to his/
her in this disease. (See Lesson 29)
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3. fiahle awefm o @ (@ @ Te7 40-60 T *tx Tw 2
Answer any one of the following questions in about 40 to 60 words.

d ITIOLE PR T T T4 2T M 7 (AT WA TR -mIced
To S TH (FICA AT BT TN T, O IR 407 O PI% AT | 2T
Gl SR TeIRE | 9Tl (@ T2 CHCA G2 AR© SNADT e |

(o113-18 (7Y)

Whenever a plain-dweller visit to a hill station like Leh-Ladakh at high altitude
without taking any break journey in between. He is likely to feel exhausted
for a couple of days. Later the person become normal. How? Explain this

process in brief. (See Lesson 18)

b) Sferm e 1l Al Fie 2o Sfers Nitre wei 3 a4l @3 T (3T
4 @ Tl iR 1 @ @ 7o Swigmd ey i e @ T 1t IS
Tole SR Y& oW IE | (7115-6 74)

Two primary functions of root in all plants are fixation and absorption of water
and mineral nutrients from the soil. Mention any two examples of some other

functions performed by roots. (See Lesson 6)

4. fEffve emafm g @ @ 9F0d Ten wiEifEs 100-150 5 =twm e @ |

4)
Answer any one of the following questions in about 100 to 150 words.
3 Tfgr-ied o sizefes wmn & o<l 2 zme A
) @ @ O, I AUH|
i) @ T O, TEHfEE AT (+i15-12 C747)
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b)

What happens to pyruvic acid in a plant cell? If-
(i) Oxygen is present in the cells.
(i1) Oxygen is absent in the cells. (See Lesson 12)

MR FAGS (0 @ 9o, Ol FE A= Freid qiFe o it 304 |
(o13-13 (7Y)

Explain how size and structure of small intestine in humans is related to its

functions. (See Lesson 13)

5. ffefve emafem st @ @t @Foa Tex wigwifaw 100-150( =t sty e |

4)

Answer any one of the following questions in about 100 to 150 words.

a)

b)

e W R wRiEe Switaw Ry Sferm areiafere 1o fSfire cpitaite
rdl (ol | @ T SRR B APmITR FrER T rEeem e @ aeRr
ATTS 2T G3IFW BT oFF T[T Trad T+ | (o115-27 4w)

In a nearby park at your home, leaves of some plants have been developed
chlorosis due to pollution. Mention four possible simultaneous effects on the

health of the local residents. (See Lesson 27)

3 e MET gerel, I3 A ¢ YIre e TS @ el i vreimm
I (o1 | @ ITET BN g7 R I Twele I8N | @ I[& MV @ @09
TFEE? 92 @R GRTT AN @R FeI ©f WFd 77 o Trad I | @
@ RGN (AT O HARANT O TPTCR T I G (T oS ETE
T (6T ThHe O @FC 7o Srad I | (o115 -29 )
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A person goes to doctor and complains of general weakness, chest pain and
blood in his sputum. He is also having persistent fever and cough. What is
the person possibly suffering from? Name the Pathogen responsible for the
disease and its mode of transmission. Write any to precautionary measures he

should take two safe guard for other family members. (See Lesson 29)
6. fHfieal (aF @ @A 9F® o4FH (O FFA| (6)

Q) SR SITH-AT A TG SRRl A e segrama, Siew
JGToR I @ ool I ToR BTN 2o amfT T | @ RIW Toge oL
WeR A [#rew SR g aferams B |

Demonstrate the effect of light on seed germination, plant shoot growth and
leaf colour using material available in your surroundings. You can collect as

much as information on this topic and prepare a report in your own style.

b) ST SR ¢ IFAHRIR (A O 7T ATHH KA GR Tl ¢ 6T
TTF O MR e | oo Riew o @y T2 gerel, Freiw [ e,
TTIATS! (2 TP <R AT A6 € Feiey ST 70 e 7id Tfiee
e |

Observe from among your relations and friends and prepare their food
preference, height and weight information. Record the information related to
different body types which are including obesity, athletic (Players) and average
body shape (type) and relation between food categories and other related
information.
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2oz
(315)
History

e o TemE A9
Tutor Marked Assignment

THfEE W= ;20
Max. Marks: 20

fReme () 9 9@ TR JwONES | ol At W A N (e SitE |

Note : All questions are compulsory. The marks allotted for each question are given
at same place.

(i) TeRoTTT LU DT BT ST T, T 72, Al 7 @ Ry Travd e |

Write your name, enrolment number, Al name, subject on the top of the first
page of the answer sheet.
1. fr=fle awelm 0 @ @I @F0 g408d Ted 40-600 *tw@ Wt f&4te =3 |

@
(Answer any one of the following questions in about 40-60 words) 2)

a ‘Afitsifexit Joow oo TR T SRrereR SKRw worg eFed — ISqH
Rsel 2w | (o152 7Y)

“Archacology is very important to study prehistory” — Analysis the statement.

(See Lesson 2)
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2.

3.

b) YR Waw weftafes 3foem e wwgyd ©o siem I — I@h [ewae
e | (<i15-2 C74F)

“Coins provides useful informantion regarding economic history” — Analysis
the statement.

(See Lesson 2)

fTefafie awefam g @ @ @3 2089 Tex 40-60(0 *ww WK &14re T |

2

(Answer any one of the following questions in about 40-60 words) 2)
a ST 29T IO WL G ¢ GRFE qms ATamal w5

(*15-2 74F)

Examine subsistence pattern of Paleolithic people. (See Lesson 2)

@)

b) atsfsit For e siTena 3| (o13-2 (L)

Examine prehistoric art. (See Lesson 2)

Tefe edelm W @ @A @F 6 Ten 40-600 Wt W foTe TR (2)
(Answer any one of the following questions in about 40-60 words) 2)

a 750-1000 fA5Ite Sra fgsreim swalw Reeme 5 |
(o115-8 7Y)

Analysis tripartite struggle during 750-1000 AD. (See Lesson 8)
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by w5 «fmE e eikres Affgs TeAd Rosmed v |
(o115-8 7Y)
Analysis Indian trade relations with South East Asia. (See Lesson &)

4. =TS efolm T0 @ @I @FHE Ter S 100-150% «tww e fordre
2| 4)

(Answer any one of the following questions in about 100-150 words) @)
3 T *OF GF TN Wl A BoT AEnw SuUitaw Rl Afirena e |
(715-11 74)

Examine emergence of Bengal as an independent regional state in the 14th

century. (See Lesson 11)

b) SIRRER WP FREE (@2 R [Kens st w1 2wle o sftama
5 | (+i10-13 (7Y

Examine the four categories of cultivation during Akbar’s reign.
(See Lesson 13)

5. fTsfiie exufem w0 @ (@It @FHa Ser Swif 100-1500% «itww e fordrs
2| 4)

(Answer any one of the following questions in about 100-150 words) @)
3 OREIY R TYEITH TIOITORITE TUF FEABARES AATEAG e+ |
(o113-20 (7Y)

2fea™ (History) Session 2020-21 3




Critically examine the development of nationalism in Europe and India.
(See Lesson 20)

b) 2ToF AGASS (THreT FZCe fSfere AZTT FhEmMT ITHH7 @ P J2re
RS O ANTAGARES AL 2 |
(o015 -21 (74=)

Critically examine Boycott of Simon commission by all shades of political

opinion in India. (See Lesson 21)
6. fEfteal (F @ @ 9I0 oFver o @ o o5 | (6)
Prepare any one project out of the following projects given below. (6)

d TR wyEE TERYR FeIRS IEa wenwe a7, e ¢ ok odtafes
AT BT & (AT A2 (F GRS F06, G108 FAITR 9o
IO FE | (o118 -27 wY)

Urbanization is not a result of natural growth in population but also a shift
of population from countryside to towns because of industrialization and greater

economic opportunities in town. (See Lesson 27)

) FfEE 1917 @3k 1930 @3 WKy weRECaw o e T |
Trace urbanization in Russia between 1917 and 1930.

i) RoT @R TEfER g SRR 4R e e |
Compare urbanization pattern of Britain and Germany.

i) 1950 A (ATF OO FATACR AIS] A& T |

Identity the trend of urbanization in India since 1950.
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b) 1980-F WIS AT (AT DI ©F SR afoaq omafe (AtF e *o [isww
(ST weR e Romn R s wifcfa) (0 -26 o)

The P.R.C. since the 1980°s has welcomed the foreign investment of hundreds
of billions of (U.S.A) dollars from countries that are their ideological opponents.

(See Lesson 26)
) e W ofiktim Izen weTfselr o 3% =z et

How did China become one of the largest economy of world?

i) BN 1945 (ATF 1993 TRIHER M e TwHlo =R (R ARTH
WG (@ SN (o Ffeel G SNCEpa 920 |

Trace the balance between free enterprise and central planning from 1945
to 1993 in China.

iii) DIt ETelfET AT AP IS e |

Identify the nature of Socialist State of China.
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P
(316)
Geography

RS O G EC R

Tutor Marked Assignment

THfEE W= 2 20
Max. Marks: 20

Reme () TS oh IgelTeT | Al AT T WS 999 92 ST (e T |

Note : (i) All questions are compulsory. The marks allotted for each question are

given at same place.

(i) T sitgg e i AE oo T, SifFele wRal, WORT @@
A%, @8 [EE o

Write your name, enrolment number, Al name, subject on the top of the

first page of the answer sheet.
1. fosfefe aeem @ @We @3 TS aF 40 (AF 60 *Iw Te e | )
3 ¥ Tee W SR o @7 7% ger W (o13-4 (L)

“The earth’s crust is unstable”. Explain its two effects on the earth’s surface.

(See lesson 4)
b) fedw g @rww e @ I S [ T (o152 (7Y)

Why does the density increases towards the centre of the earth? Explain.
(See Lesson 2)
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2.

3.

4.

fefiide 2w @ @Re 9 TF 2 40 (TS 60 It Tew e | #)
Answer any one of the following questions in about 40 - 60 words.

a (25a DEE kT A e <iEm 2 (o13-3 (L)

In which way, the thought of pratt is different from Airy? (See Lesson 3)

b) e TR T g1 T @ @FRe 7 omEAR s W | (A19-14 (74)
Suggest any two measures to reduce the risk of global warming.

(See lesson 14)

fRfiide 2o @ @Re @Fha TS 40 (AT 60 Wt Tww e | @
Answer any one of the following questions in about 40 - 60 words.

a) RO (AT Fedrol iE eI Wy IAATE wifHe qArere ATF | 76 TR
o1 | (o115-17 4w)

The amount of rainfall goes on increasing when we move from Amritsar to

Kolkata, write any two reasons. (See lesson 17)

b) Euw «FFere AR iy e St deref Fie
(*113-19 o74)
In current scenario, what are the impacts of the renewable sources of energy
on environment? (See Lesson - 19)
frsfeie 2w @ e g 7eTF 100 cATF 150 *tn e e | (@)

Answer any one of the following questions in about 100 to 150 words.
8 SINTE AR SR Gl IR Ao I Sl (415-23 (1Y)
Explain the effects of using fossil fuels on our environment.

(See Lesson - 23)
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b) & Rz AT Seave Jag simienf was e tof wtate | I
@ @we o Iea ==l Roswed | (o115-22 4w)

Green revolution has created so many problems alongwith increase in food grain

production. Analyse in any four points. (See. Lesson-22)
5. f=feiie amm @ @we @3bg T™tF 100 (At 150 *tx Tex e | )
Answer any one of the following questions in about 100 - 150 words.

a “FE IAFeF WEAT AW ¢ FHWEeR e T viR I ew g [
e e | (+113-14 (74)

“Terrestrial ecosystem are the major source of food and raw materials for human

beings.”Support this statement by giving four arguments. (See Lesson - 14)
b) ©Rrer @ THhra WY BT 72 [FEke awul e e 3z |
(oI5 16 @« 20 (W)

On the outline map of India, mark and label the following with appropriate

symbols. (See Lesson - 16 & 20)

(i) TI=E @& (Jaskar Range) (ii) == 771 (Narmada River) (iii) @ 2= (Guru
Shikhar) (iv) 3% Jfes! wi=et (Area of Black Soil)
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6. Wb 2w (T (FNe GFH o4FH S T | (6)

Prepare any one project of the given below.

a) o @ SrE A T AT GRS A Wi ek o TS
ARG T, IO O &) T NG LAl -fRalel &g Fre
AT O TS v [ TRl smfore e = @re =

Conduct a survey of about 10 households in your area or locality where you
live, to find out the social amenities available to them. The information about
them can be gathered in the following format:

EICER TofeTe; 94l Amenities Available
No. of
Households

Gfetfexs | sfdges | THEGH | oM | o0 w

T.V. Transport Internet Toilet Potable Water

SR 7R RS SR fofers, SiveE St AW sraie-Rkam atere
TATE G e 7Y |

Based on the information collected by you, write a report on the availability
of the social amenities in your area.
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b) o7e GRS AT ARATE (omioe g wAtafes sree [REEls @RiIF o
SivmE g ™G «FRIEs 9% A0 «ARpem T | vl AiFena Ae,
Rtamd 9 @32 100 (AtF 150 *w @I afSrame ags T3 |
Conduct a survey of nearby 10 familes to understand occupational and economic
conditions of women as per the given format. Arrange the informations properly,
analyse and prepare a report in 100 to 150 words.

i e
Format of Survey
Survey format for information of family members
e | Twmthd | o@d | W | w0 few CoMIE 3T =
BRI Bt aFfe
SI. No.| Name of | Male |Female| Age | Education | Nature of Annual
Members Occupation | Income (Rs.)
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(317)
Political Science

RS O G EC R

Tutor Marked Assignment

F&ifes W 2 20
Max. Marks: 20
fasme () TR o AwonEs | AT At MW SR AR T I e ZCACR|

Note : (i) All questions are compulsory. The marks allotted for each question are
given at same place.

(i) T sitgg e i AT SoEE T, SifFwele wRal, WORT @@
@2 Ew o

Write your name enrolment number, Al name subject on the top of the

first page of the answer sheet.
1. f=fefie gt @ @we @3 7t 40 (AT 60 % Ted e | )
Answer any one of the following question in about 40-60 words.

3 Ireld SReAy FHweR (Ners PR MIAMMOTR FidTo! ¢ Foge! AHes
T O Tl Toye Trzadv [y T | (715-6 (7Y)

Explain how the Right to Freedom gaurantees the freedom of Press in India
with suitable examples. (See Lesson-6)
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2.

3.

b) @ @ gt «ifafFfen 2@ T, @ o AT WP «F @ @ AT
ATS AT | (15-9 7¢F)

State two situations in which the ‘President’s Rule’ can be extended beyond

one year. (See Lesson-9)
el amim @ @e @ 7F 40 (AT 60 WH Ted e | )

Answer any one of the following questions in about 40 to 60 words.
a FoE Ak AFwen Remef srer Aenfere AEemm ghm e FRe
(+N15-22 (w47

How does the provisions of Women Reservation enhanced the role of women
in Indian Politics? (See Lesson-22)

b) Koam eeTE (SHiRTR @R memem =T afsTwies @ @3 7t [Rew
T TGS F AR [TBWR I O [ T | (o115-23 4w)

Explain how the two factors namely universal adult franchise and protective
discrimination of the backward classes has an impact on Indian politics.

(See Lesson-23)
el amim @ @e @3 7F 40 (AT 60 WH Ted e | )

Answer any one of the following questions in about 40 to 60 words.

a SIFRT ¢ TR Tt el TEe wrerw oS ARTERAr— ISt
TS ool e | (+115-23 (74)

The concept of Sustainable Development is more about environment and less

about development”. Justify the statement. (See Lesson-23)
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b) «fFEHTe ST @ @He 7o IR Do T | (o115-23 4w)

Identify any two factors that cause environmental degradation.

(See Lesson-23)
4, fosflRe o @ @we @3Fba 7F 100 (AT 150 *F Te e | @

Answer any one of the following questions in about 100 to 150 words

a) SR IEHere AremiTFer doR Ruawe | (o115-22 4w)
Analyse the impact of communalism on Indian politics. (See Lesson-22)
b) F-=Prar afeEy MaRFoR Shmem T %0 | (o115-24 4w)

Evaluate the role of citizens in the process of good government.
(See Lesson 24)
5. sl ot @ @Re 9FhF T=tF 100 (TS 150 =% Ted | @)
Answer any one of the following questions in about 100 to 150 words.
) PIPTAR el S A (#115-24 (747)
What are the major hindrences to good governance? (See Lesson-24)

b) frFw e Feltd 6 (AF 14 I [WOR FWIR T “SROWF G
e e [WRkvs Farr O Resme e | (o115-24 4w)

Analyse how the right to education has ensured “Free and compulsory

education” for the children aged between 6 to 14 years. (See Lesson 24)
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6. NIb awe @ FNe GFH oATH ATFS T | (6)
Prepare any one project of the given below:

a SR Sl RsR ok RRE [re SR [Kiey s JFak e
FOFOII T AMCHA (ST IR | 27 SHATH FIATF 10 T Jiea
e Fefie weme T e s ) SioR A iy ave =
Tilorm I -

) IS 1 £l ) R R i R
i) M E 9 T 9w

TR AR Afeveea o e T8t @9z T%5 cmef
€A FfeEq T awifes gl e 99 T et

EIEFNG
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10.

1n.

12.

13.

14.

15.

16.

17.

18.

19.

20.

awRals HoRm IR 03, AFETTST W38 FoFed A2E2 2T I (@O AT
G IRBHR 90w @I pUre Afsrv o I | Tl Feie I T IR
T ToitEs s e |

To keep your neighbourhood clean and environmental friendly, we need lot of

measures to be taken at different levels collectively as well as individually. Discuss
the following problems with atleast 10 persons of your neighbourhood and seek
their suggestions to improve upon in the form of the given table:

(i) Keeping your neighbourhood clean.

(i) Drainage system and sewerage.
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Name of the visitor (a) Measure suggested (b) Measures Suggested

for cleariness for drainase system and

Sewerage

© o N o g &~ W Ddh P

e e e O e o i =
©© N O 0 ~ W DD = O

=
©

N
©
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b) =iemiE wwere 20  «fties @ T e | 3 W siftkelie TR
farmiars wa, wiee FEFE, TEEA R TR e AFIS TR |

2 TR fefare i Reaolm Sowr oief@ F Praice e & s
e |

) sRRE fEeow wm

i)y AT wdtates MW

i) T wEtTE v

a3 opreE, Rueie SR Tafe wuw T ot sl ) (o09-7 i)

Undertake a survey of 20 families in your locality. Find out the educational

level, working hours, nature of work of women vis-a-vis men. What conclusions
do you draw on the basis of this survey related to the following issues:

1)  Status of women in the family
il) Economic contribution by the women
i) Level of gender discrimination

Suggest ways and means to improve the existing scenario. (See Lesson-7)
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ANTE TSR

(331)
Sociology

R O G EC R

Tutor Marked Assignment

THfEE W= ;20
Max. Marks: 20

Reme () TS oh IgelTeT | Al AT T WS 999 92 TN (e T |

Note : All questions are compulsory. The marks allotted for each question are given
at same place.

(i) T ATE AT AT A AT W, SferFrefE Al, TR @F@F T,
@3 7w forg e |

Write your name enrolment number, Al name subject on the top of the first

page of the answer sheet.

1. e aveg @ @we g% T0F 2w 40 (AT 60 T Te e | )
Answer any one of the following questions in about 40-60 words.

ad JreT gI0 ANMTE T AN SAfEm @I PuE @R FEelEs wel
o I T | (<A15-7 74F)

Describe how a social system is an orderly and systematic arrangement of social
interaction? (See Lesson 7)
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2.

3.

b) TR Fewa it N Fioterel avm Far Saead fey v
2 | (*112-8 (74F)

How do values provide stability in group interaction? Explain with examples?
(See Lesson &)

frefeiie amim @ @Ne @6 FrF AT 40 (A 60 ¥ Te e | )
Answer any one of the following questions in about 40-60 words.

a) ol FeIT TR IRFS MIH! F(E IR TS AGCAT FICR (27 FL?
Suizzel fira ot e | (o115-8 (7Y)

How does custom preserve our culture and transmit to next generation? Explain

with examples. (See Lesson &)

b) “codt FEfoReTel GFRFRTR A WS ATaw Tom few T | RIS =8 7|
(+N3-11 (74)
“The Group stability depends upon integration”. Clarify the Statement.
(See Lesson 11)
frefefie amim @ @we @3 F=F 40 (AT 60 =H% Tex fiw | )
Answer any one of the followings in about 40-60 words.

a) SR &N/ STRMTIE SuiRdel %9 I QS I T e ¢ AT adfem
o A T (<15-10 C7¢F)

Explain how conflict is a social process, taking the example from your village/

community? (See Lesson 10)
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b) AiFeT SfereT A ARG M FOE ARG R Tl alfFw o @
5 | (o13-11 (7Y)

Justify how acculturation is a universal and continuous process? (See Lessonl1)
4, SEFR® 207 @ @e I 4 100 AtF 150 *% Tex e | 4

Answer any one of the following questions in about 100 to 150 words.

8 e SR SRR SRR SR SR (R Gk (AT SR SRl
2 Refels e e | (7115-8 (74)

“Norms are indispensable part of our life”. Discuss the statement with suitable

examples from your daily life. (See Lesson 8)

b) “Rg g cvea Wit A ofte 3k wAif+o TR e a2 |7 TRl
7 IeTT WTHre AWM e | (415-9 74F)

“Some statuses appear to have both achieved and ascribed elements”. Justify

the statement with examples? (See Lesson 9)
5. frfeiie amm @ @we @FoeE 2 100 (I 150 *w Ted Ww | 4
Answer any one of the following questions in about 100 - 150 words.

g IFreR TWEE T @R AT 22/ AT IR wFgrel ffe
o T T (*13-7 TY)

Explain how Norms and mores are one of the important bases of social structure?

(See Lesson 7)
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b) Eraifrel FreiT 7 fSfer @R e AMET WAfETF 3% @ — o [

T3 | (715-10 (74)
Explain how co-operation is goal oriented and conscious form of social
interaction? (See Lesson 10)
6. «Ib @we Apd el (@ (FNe OIFh oFT Awe I | (6)

Prepare any one project of the following projects given below.

a)

b)

YT G @ (@S PR/ oD AR [ GwfRere TN TR @lNe
AR | MG TR T IR | ST F7 24w IR
TR AL A W 4R INATF 5 T Fidaw wifersin a wite [few swon
OF THRCE ARl FF 4R @I WS q=ey IOPlel el w42
5 6 Fpite TR0 a|l Tiire [fen sRi@weR om afstam foga |
(*113-10 74w)

Visit any Club/ Cultural Associations/NGO in your locality who have organized

any social/cultural programme. Please ask the main functionary of the organising
committee. LList out at least 5 programmes in which different members cooperate
each other and organise the programmes in a particular year. Write a detailed
report of different activities performed by functionaries in these 5 programmes.

(See Lesson-10)

SR SeCe (@ (@R 10 § off@w +fmT I @ 15-20 = S @R
Q4R R RRER [{fon SR 7o YRR 7o e Tenes e
T3l | SR SRR fefere sie 15-20 T2ta Sreite [ T «7ef$e srace
O TF GF Teees efsrawm forg | (7115-12 (74)

Visit any 10 families in your locality and ask any two elder family members
about different rituals performed in marriage 15-20 years back and now. Based
on your visit write a detailed comparative report about how marriage practices
changes in last 15-20 years? (See Lesson-12)
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